
1) (1 x 65) + (7 x 99)

Answer: ____________

2) (3 x 3-1) x (5 x 44)

Answer: ____________

3) (4 x 102) x (8 x 98)

Answer: ____________

4) Solve by factorising 
q2 + 8q - 20 = 0

Answer: ____________

5) (10 x 108) x (9 x 73)

Answer: ____________

6) (3 x 33) x (2 x 26)

Answer: ____________

7) Write 0.002 in standard form.

Answer: ____________

8) Solve by factorising 
j2 - 20j + 19 = 0

Answer: ____________

9) (9 x 11) - (3 x 39)

Answer: ____________

10) Solve by factorising 
d2 - 7d + 12 = 0

Answer: ____________

11) Write 3000000000 in standard form.

Answer: ____________

12) Write 900000000 in standard form.

Answer: ____________

13) (6 x 48) x (1 x 49)

Answer: ____________

14) Solve by factorising 
f2 - 16f - 17 = 0

Answer: ____________

15) Factorise 3j2 + 8j + 5

Answer: ____________
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16) (3 x 92) x (3 x 1-2)

Answer: ____________

17) (8 x 36) + (8 x 93)

Answer: ____________

18) Factorise 6f2 + 25f + 11

Answer: ____________

19) Factorise 5q2 + 13q + 8

Answer: ____________

20) Write 7 x 104 as a normal number.

Answer: ____________

Total: ___ / 20
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Answers:

1) 2711951199 2) 1280 3) 137749507200 4) q = 2 or -10 5) 3087000000000 6) 10368 7) 2 x 10-3

8) j = 19 or 1 9) -59040 10) d = 4 or 3 11) 3 x 109 12) 9 x 108 13) 103079215104 14) f = 17 or -1

15) (3j + 5)(j + 1) 16) 729 17) 11664 18) (3f + 11)(f + 1) 19) (5q + 8)(q + 1) 20) 70000
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